MP Police Previous Year Paper
Constable 13 Feb, 2022 Shift 1




0

Professional
examination
board

View Challenged Items/

i View Report  View QP  View Candidate Responce
Print
Q.No: 1  ‘Pankhida’ is sung by the peasants of
2427040
R e F fur gRY I S B
Punjab
A
LEICS
Assam
B
qq
Manipur
C
AfrgR
Rajasthan
D
REIE]

Correct Ans : D

Subject : General Knowledge

Q.No: 2
2427469

Pietra dura is related to which Greek God?

e S 1 Ge 5y gAF Saar § 87

Zeus

ikl

Athena

T

Apollo

gt
Orpheus

Elipz)

Correct Ans : D

Subject : General Knowledge

Q.No: 3
2427562

View Candidate Question

Testdate

TestSlot

Select the wrong statement about International Solar Alliance (ISA)-

ST AR TadE (METHR) & TR F I TUT BT TG PY -

The launch of the ISA was done by Mr. Narendra Modi, and Mr. Francois Hollande

RIS IR TodyT (SETH) F aR & Tad FUT BT 991 B -

It was announced on 30th November 2015

3! YOI 30 TR 2015 B 1 TS A

USA is not a member of ISA

MPPEB 2022

PCRT-Reports



YUHY VNFUHY Pl MG 7161 &

The alliance works for the promotion of Solar energy

TEdYT GR SHoil Bl Fgrar & & RIT H1 Hvar §

Correct Ans : C

Subject : General Knowledge

Q.No: 4 Which of the following personalities was described by Gandhi as the "keeper of my conscience"?
2428854

Frofafaa # 9 g cafda o i St ¥ 3 Siavren F e@" & wu § gffa e ar

C. Rajagopalachari

A
W eRTTrERt
Amir Khusro
B
SR g
Raja Ram Mohan Roy
C
TSIt X0 Hig T
LalBahadurShastri
D

ARG et
Correct Ans : A

Subject : General Knowledge

Q.No: 5  Under the Right to Information (RTI) Act 2005, the obligations of public authorities are described in which section?
2430312

I FT AHRBR (ARESNE) AT 2005 & q8d e WRAGINGT F Ml @ {5 4R ¥ aftfa fm o g

Section 3
A

RT3

Section 4
B

URT 4

Section 5
c

URT 5

Section 6
D

YRT 6

Correct Ans : B

Subject : General Knowledge

Q.No: 6  How many MPs are required to be a proposer and seconder for a candidate's name to contest the Vice Presidential election?
2431094

IoRIgald g s & R vt & & e fea wivdl @1 WRaraw SR sigHes g Snawad 37

25-mover and 25-proposer

A
25-TA1ES AR 25-3FHEH
20-mover and 20-approver
B
20-TEH 3R 20-3FHGH
50-mover and 25-proposer
C
50-TKIA% 3R 25-3FHeH
50-mover and 50-approver
D

50-TWAF 3R 50-3FHeH

Correct Ans : B



Subject : General Knowledge

Q.No: 7 Who is the President and Secretary of BCCI respectively? (Dec 2021)
2431457

BCCI & 3{eef 3R Tt s $H 82 (38R 2021)
Jay Shah, Sourav Ganguly

A
4 T8, IRa TR
Sourav Ganguly, Jay Shah
B
Ha e, /e
Rahul Dravid, Ramesh Powar
c
g 7S, T AR
Sourav Ganguly, Rajeev Shukla
D

9Ra e, it e
Correct Ans : B

Subject : General Knowledge

Q.No: 8  Which of these is the oldest mountain range?

2435815
T G 9l U v ot s B 2
Vindhya
A
fae
Himalaya
B
femmer
Aravali
[
SRt
Satpura
D
Wagst

Correct Ans : C

Subject : General Knowledge

Q.No: 9  Lohari festival is celebrated in which of the following state?

2440799
el der Fraffad J § frw s 7 Heman o @2
Haryana
A
s
Himachal Pradesh
B
o W
Uttarakhand
C
JRES
Punjab
D
LEIC)

Correct Ans : D

Subject : General Knowledge

Q.No: 10 Under the Jal Jeevan Mission, the Madhya Pradesh government has set a target to provide tap connections to all households in all rural areas?
2441006



VICE WG 1HKIT @ Q0 HBHGX XIXPIX 11 XAHI ATHIVE QAL @ XA HT U H 0 P9I A& X1 @1 C6d XUl B

2021
A

2021

2023
B

2023

2024
C

2024

2025
D

2025

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Ustad Allauddin Khan was an eminent .

2441098
TG SATIEH TH T THT q-
singer
A
Rioca
sarod-player
B
FgaE®
sitarist
C
Rrdrares
tabla-player
D
GEGICICE

Correct Ans : B

Subject : General Knowledge

Q.No: 12 Most of the temples of Khajuraho were built in between by the Chandela dynasty.
2441153

RIS F St wfeRi o1 fmfor g & <ea o1 3 HRamr

850 and 950
A
850 3R 950
950 and 1050
B
950 3R 1050
1050 and 1150
c
1050 3R 1150
1150 and 1250
D

1150 3R 1250
Correct Ans : B

Subject : General Knowledge

Q.No: 13 Which temple has the first ever written zero in it?
2441204

fop Tifey & wad uger foran =1 R S @2
Chausath Yogini

s AT
B Chaturbhuj Temple



T AR

Mahakal Temple

RIS Wi

Chandella Temple

R TR
Correct Ans : B

Subject : General Knowledge

Q.No: 14  10th-century Chaunsath Yogini Temple is dedicated to the Goddess -.
2441345

104t wt @1 s AftHr FieR St oY g §-

Durga

o

Lakshmi

ag

Saraswati

!

Ganga

T
Correct Ans : A

Subject : General Knowledge

Q.No: 15 In Madhya Pradesh the average annual rainfall is about -
2441462

e o ¥ ofd aiffes anf @ -

26 inches

2659

32 inches

32%9
44 inches

4454
60 inches

60 39
Correct Ans : C

Subject : General Knowledge

Q.No: 16 The Satpura Tiger Reserve is located _____ of the Narmada river.
2441549
TGS TR R e A R 31
East
A
o
West
B
ufEm
North
c



v uuu

SR

Correct Ans : D

Subject : General Knowledge

Q.No: 17  As per the fifth edition of the National Family Health Survey, the institutional child-birth in Madhya Pradesh is -
2441641

TP IRaR WA Fd &0 & UFEd GRHR01 $ STAR 7Y USRI # I TNE § -

80.8%
A

80.8%

84.6%
B

84.6%

90.7%
C

90.7%

92.5%
D

92.5%

Correct Ans : C

Subject : General Knowledge

Q.No: 18 Starting from which of the following years, the advocates of Indore were being appointed as pusne Judges to the post of High Court Judge?
2441698

o # 3 frw af ¥ R & sifigamell #1 3= e & N & ug W iR Imdw & wu ¥ Fge fm e g e

1905
A

1905

1914
B

1914

1920
C

1920

1930
D

1930

Correct Ans : C

Subject : General Knowledge

Q.No: 19 What is the famous produce of the district of Neemuch?

2441811
e o ) i Jus @ g 2
Opium
A
WA
Cannabis
B
Al
Tobacco
c
ERL
Bidi leaves
D

SR
Correct Ans : A

Subject : General Knowledge



Q.No: 20 Which of the following is the largest arms importing country in the world?
2442423

Frofifea & 9 fay &1 Te9 91 sRER e 3= $F 91 82

India
A
HRd
Australia
B
Sfr
Saudi Arabia
(9
T4 3RS
China
D
it

Correct Ans : C

Subject : General Knowledge

Q.No: 21 What is the part of the earth's surface directly above the focus of an earthquake called?
2425860

YHY & FF & 315 FW Y& 3T Tag & U P 7 Fgd 87

Focal depth
A
BHd TeRR
Core
B
R
Epicenter
C
JuRFR
Seismic focus
D

YHUT Bl
Correct Ans : €

Subject : General Science

Q.No: 22 Poisonous chemicals which are used to kill unwanted plants in the fields are called
2429213

S T S Wl eifed Qi B 7R ¥ o Sudh fhy o €,

Manure

FEAM §

e

Fertilizers

INRE

Weedicides

ERYAIRATIT

Herbicides

=R

Correct Ans : C

Subject : General Science

Q.No: 23 The function of clitellum present in earthworm is -
2429903

Fgu & JuRa uHifre &1 FH § -



A Teruisanion

[ReEE]

cocoon formation

BIG o

excretion

FH

locomotion

wfaam

Correct Ans : B

Subject : General Science

Q.No: 24 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429933
Assertion: (A) Cancer and spider are the members of phylum Arthropoda.

Reason: (R)Anterior part of the body forms a distinct head, bearing sense organ and cuticular

A Fufafed vy § < w1 € B A @ # aifiedT ok g $1 "SR F wu B dad a1 T 31 siue! 37 G el 3 arauHigdes s e 8 ok Ru T et § § uy &1 9 3w
SABY: (T) T 3R ADS! FIEaH BTN F Few g

PROT: (3R) TR 1 YbIa U T (e Rz s 3, et 2 3 iR sgfesa asiehaed giar gl

(A) is true but (R)is false.

A
(A) 9 & AT (R)Ta &1
(A) is false
B
(A) T
(R) is false.
C
(R) e 31
(R) is the correct explanation for (A).
D

(R) (A) & g vt W= 21
Correct Ans : D

Subject : General Science

Q.No: 25 Gaseous mixture of carbon monoxide and nitrogen is called

2430064
FT AATaEs SR A3ereH & I s & gl I g
Producer gas
A
FAEF
Water gas
B
S T
Natural gas
C
TPl g
Methane gas
D

= i

Correct Ans : A

Subject : General Science

Q.No: 26 is not an example of thermosetting plastics.
2430143

yrfafdT @fes B IR el Bl

Dalaliza



YpAET

Duroplast

SR

Melamine

e

Nylon

AR
Correct Ans : D

Subject : General Science

Q.No: 27 Qut of these, which one has lactic acid?

2430906
T @ fow Afkes ona &2
Coffee
A
Eau|
Milk digestion
B
QY BT URA
Lemon
C
G5
Tea
D
a9

Correct Ans : B

Subject : General Science

Q.No: 28 is a base used in making soaps.
2431546

T SR § forgest IudnT wrge &= 7 foan S 31

Sodium peroxide

A
Gifsan Meffewzs
Lye
B
S
Hydrogen oxide
C
EESEREGHES
Sodium bicarbonate
D

Wifaw aEFEne
Correct Ans : B

Subject : General Science

Q.No: 29  Which of the following is the most used bleaching agent?
2431550

Frafifed & & &1 ol ot SR A 9F aren slifi woie 82

carbon dioxide

P SEITES
B Chloride



alcohol
C

IR

sodium chloride
D

feTH WRFS

Correct Ans : B

Subject : General Science

Q.No: 30  What type of animal is the caracal?

2431720
IFA 9 TPR BT SR §?
Wild cat
A
Siredt faeedt
Wild dog
B
et
Wild buffalo
C
Sirett
Wild duck
D
SiTelt S

Correct Ans : A

Subject : General Science

Q.No: 31 A concave lens the light generally falling on it.
2436429
TH fdd A AR W IT R FRA I TH1 B gl
bends inward
A
ER B SR FHa
bends outward
B
TMER BT IR Foball
doesn't refract
C
SR T8 Har
doesn’t pass
D

SO A1 ¥ W TG gar

Correct Ans : B

Subject : General Science

Q.No: 32 In which of the following year Central Rural Sanitation Programme (CRSP) begin?
2439729

Frafarea & 4 g av g ariv W sries (HeRuad) & gam

1986
A

1986

1989
B

1989

C 1995



1990

1999

1999
Correct Ans : A

Subject : General Science

Q.No: 33 Who is the Father of pediatrics?

2439955
T T &F TP B o7
Hippocrates
A
fRoditrew
Abraham jacob
B
A ST
Mendal
C
Hiew
Funk
D
BH

Correct Ans : B

Subject : General Science

Q.No: 34 Which of the following ministers launched the Jal Shakti Abhiyan?
2439972

frmferaa & 9 g wHft 3 ot i ot ) goora &1 o

Amit shah
A

ffrd T

Nirmala Sitharaman
B

e Sareor

Suresh Prabhu
c

gy

Narendra Modi
D

W A

Correct Ans : D

Subject : General Science

Q.No: 35 Which of the given are flagellated in male gametes?
2440082

Pufafed § 4 o R gue § aeifdsd 8 82

Anabaena

e

Polysiphonia

ORI
Sphagnum

La

Ectocarpus

TERIBIT

Correct Ans : D



Subject : General Science

Q-No: 36 Pointing to a boy Prakash said, “ He is the son of my only son.” How is the boy related to Prakash.

2422440
TP TSP Bl 3R SR B §U UPTRI 7 bgl, “Ig TR 3ebelia 9¢ T 9l B TSDI TS § 59 UHhR et 82
Grandson
A
qrar
Son
B
e
Brother
C
g
Daughter
D
&

Correct Ans : A

Subject : General Reasoning

Q.No: 37 A shopkeeper introduced a boy who come to the shop to the staff as * Brothers and sisters I have none, he is my father’s son’s son.” Who is the boy?
2422459

TF GHMGR 7 GHM W M I TF TSP &I SHANG! § fyeam, “yigdl ok g8, T $1E 61 8, a8 IR fid & ¢ &1 37 31 a8 A 72

Nephew
A

e

Son
B

e

Cousin
c

TR U

Uncle
D

T

Correct Ans : B

Subject : General Reasoning

Q.No: 38 Find the Number of triangles in the given figure.

2425663
=9 apha § By $t T 714 Sy
12
A
12
13
B
13
15
c

15



16
Correct Ans : B

Subject : General Reasoning

Q.No: 39 Choose the correct mirror image/jpg of this combination- DECF.

2425672
39 i @ 98! 3Uur B3 g3- DECF
dio3

A
aio3
2343

B
2303
123a

c
323a
CEEN)

D
a3ad

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429548
HORSE : JQTUG :: SISTER : ?
I fAHe o1 707 X o R g § I YR Ui § SR @RI Ue e Ue § Fef €
HORSE : JQTUG :: SISTER : ?
UKUVGT
A
UKUVGT
ERSTIS
B
ERSTIS
RTESIS
C
RTESIS
ERTSIS
D
ERTSIS

Correct Ans : A

Subject : General Reasoning

Q.No: 41 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433163

D5P, G7Q, J9R, M11S, ?

Froffea vy &, Temsh ar seRt ot ve R s & 7 3, e 3 e o gl 31 9uS! 98 70 1 § [ g FU F 99 Jea F ogmH I 9dfid fea = ¥ 3w 3t o @ dofwe gae
D5P, G7Q, J9R, M11S, ?
P13T

P13T
B P12S



PLL>

Q13T
c
Q13T
Q12s
D
Q125

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433457

Problem Figures

LER| (1T 1

Answer Figures

R (]|

O] (b) (c) (d)

-~J

39 Ahed o1 97 B¢ o Rt spfa & It voR Fafia § R voR gaRt sirpfa, gt sipfa & gefa 81
T 3G :

TSR
| [T

(3 (b) (c) (d)

(a)
A

(a)

(b)
B

(b)

(c)
C

(c)

(d)
D

(d)

Correct Ans : C

Subject : General Reasoning

Q.No: 43 Complete the question figure by choosing the best alternative from the answer figure.
2433543

[
L

IR 3Pl A A T Sl ey TR 9y PRy 31 1 FRw)



e J
k
k
¢
¢
(2
=
—
=

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Select the figure that will come next in the following figure series.
2434131

LA
Y




NZ
[
o]
5
B
[o]
5
0
C
o
5
3
0o
D
5
(1]

Correct Ans : D

Subject : General Reasoning

Q.No: 45 Select the option that will come next in the given series.
2434158

—— —_—

<] ’

39 Ay B T B St § TS e § S Sy

—_— —

M >




&
&
&
A

%

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Identify the diagram that best represents the relationship among the given classes.
2435652
Bachelor, Men, Friend

FY SR P g B O U T AR F i ey o W st ufaffe wwar )
A®, ge, BE



)

Ny

&«

Correct Ans : B

Subject : General Reasoning

Q.No: 47 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438707
A

IR o gUur 1 2 TS a1 R 3@ Wi, < < g fapeu anpfadi # 4 w- w9t gdor o geft?

+
T__l
B
=
T
T
an




Correct Ans : A

Subject : General Reasoning

Q.No: 48 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.
2438828

PufifEd IR Jen-gefl & @ @7 Ten-gu sl ARw Jef 3§ ue W % T0F § ok 379 3 U 9oN-gv ST B 1 SN SR JWe-g $1 94 B

34:7
A

34:7

78:13
B

78:13

18:9
C

18:9

56:11
D

56:11

Correct Ans : B

Subject : General Reasoning

Q.No: 49  Three of the following four number-pairs are alike in a certain way and one is different. Identify the different one.
2438891

Fofafaa ar & 9 dF Sen-gm we i Wi § 909 € SR UF ST g1 SaT 3 uga Il

37:75
A

37:75

29 :59
B

29:59

28:56
c

28:56

26 :53
D

26:53

Correct Ans : C

Subject : General Reasoning

Q.No: 50 Three of the following four numbers are alike in a certain way and one is different. Pick the number is different from the rest.
2438908

Frofafea ar Semel # § €F et 5l veR e 99 § SR U S8 SHH §1 99 SREM ST &7 997 Sl

333
A

333

217
B

217



28
65

65
Correct Ans : A

Subject : General Reasoning

Q.No: 51 Sita is the daughter of Ashok’s father. Ashok’s mother is Lakshmi who is wife of Sita’s Father. How is Lakshmi Related Ashok’s sister?
2439291

e sl & foar 1 G 81 it &t wien we § St Wi I e 9t udh §) qell, il @) 96 e weR wela 82

Mother-in-law

A

I}

Sister
B

Ergl

Mother
(9

o

Daughter
D

Ecil

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Four words have been given out of which three are alike in some manner, while ones

2439388
different. Choose the odd one.
IR ¥reg g my &, R @ i Rl aRe § e €, el U Wed 3o 81 SR Weg &1 =
Individual - Group
A
Sl W
Shame - Honor
B
T - A
Quality - Inferiority
C
ORI - EF
Wealth - Finance
D

o7 - fom
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2ad0219 If I receive the invitation, I will attend the function

A. I received the invitation

B. I did not receive the invitation

C. I attended the function

D. I did not attend the function

U 7T U F HS A IR IIF §1E IR BT §| B BT T FH I, Tl Ugd FYF BT A G HUF A B, 3R &) B i U F guT HYE J W B
SR G e foreran 8, & & wORis § wiha S

A. T o firen

B. T3 fweror =it foran

C. 3 wmrdg & HeT o

D. § guRig & wnfirer 7 gon



AC
BC

BC
DA

DA
CD

cD
Correct Ans : A

Subject : General Reasoning

(22;11\‘1‘.(345149 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
The movie is either controversial or hyped
A. The movie was controversial
B. The movie was not controversial

C. The movie was hyped

D. The movie was not hyped

o T gy H gEr S SR IUF 918 IR HUA §1 YT B i G gH, TTeT Ted HUF B aedd guk $Y A €, R & $UF difhs T ¥ T $3F ¥ T 7
e a1 ot Rrarere @ a1 wenka @

A. fpen faarerug ff

B. fpe farerers el <&t

C. fisen &1 i foan mam o1

D. fren &1 el et faan mar at

AB
A

AB

DA
B

DA

CA
Cc

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 55 In the question below is given a statement followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted. You have to consider t
2440875

Statement:
The cricketing body decided to hold the final match of the tournament in the biggest stadium of the country which can accommodate above one Iakh spectators.
Assumptions:

1. Most of the tickets may be sold resulting into huge income for the cricketing body.
II. Most of the spectators may prefer to watch the match on TV at their homes rather than going to the stadium.

= R Rur 1wy § 1ed T 3 § iR 9O R & gduront @ % waie 1 90R 11 T U ] 1 gduron a8 o & R a1 7 o w8 a1 98 TR )1 Suwt T T Sy SR Su%

YT
fopdre 3t wfitfa 3 gAie 1 BEd A9 OX & Tad o3 wisgn § w1 &1 fofa forn @ Rl ve are § sifie oxfe wnmiifva &) 9ed 81

TAYROMY
1. e fede P & uRumRaey fsde Iifa 3t om & SRt grftl



11, RTR aXfe Rfieam M & g™ 09 R R .4 R B 3@ Wig Hal|

A If only Assumption I is implicit
7 e qEURON 1 Safid §

If only Assumption II is implicit

B
e e gduron 11 sl &

c If either Assumption I or II is implicit
ofe a1 qdeRon 1 4 11 Jfafied 3

D If neither Assumption I nor II is implicit
I 7 gdURo 1 7 11 3

Correct Ans : D

Subject : General Reasoning

g4|\120235064 z Of the part of the population in a village are females. If 30% of the females are married.
The percentage of unmarried males in the total is?
2 of Uep T H ST a1 forean et 31 & 30% Afgenali o) w81 gt 31
faaifed qou &1 g ufami § 2
62.5%
A
62.5%
12.5%
B
12.5%
84.32%
C
84.32%
46.87%
D
46.87%

Correct Ans : A

Subject : General Maths

Q.No: 57 What will be the compound interest on Rs.4700 in two years when rate of interest is 3.5% per annum?
2423591

& uf % 4700 ¥9 R Fhdla A6 1 GRT O1F T &R 3.5% Hfaad 82

Rs.377.76
A

Rs.377.76

Rs.334.7575
B

Rs.334.7575

Rs.360.562
C

Rs.360.562

Rs.242.345
D

Rs.242.345

Correct Ans : B

Subject : General Maths

Q.No: 58 What value would come in place of the question mark (?) in the following equation?
2428596

Zof3125 +§of4360 g of 1584 =7

Frofiia aftexo & usaras g (2) T RIF W o T e



3125 arg + 4360 T % 1584 a:r§=?

980
A

980

984
B

984

985
C

985

983
D

983

Correct Ans : D

Subject : General Maths

Q.No: 59 The boys and the girls in a school are in the ratio 37 : 13. If total strength of the school be 1000, find the number of boys and girls.
2429458

TF wpd T a5 AR TSihal BT U 37:13 §1 AR Tpa 3 HoI TBA 1000 ¥, o T AR Tihat B G i i)

750,250
A

750,250

700, 300
B

700, 300

800,200
c

800, 200

740, 260
D

740, 260

Correct Ans : D

Subject : General Maths

Q.No: 60 A bag contains Rs 1600 in the form of rupee, 50 P and 25 P coins in the ratio 27: 18: 16 Find the number of coins of each type.
2429498

TH 3 8 ¥90 F TY H 1600 F0, 50 T 3R 25 T & 9% 27: 18: 16 F U # ¥, e UHR & Riaw! 3 wem qarsi ?

1080,720,640
A

1080,720,640

7012,801,902
B

7012,801,902

501,1001,1509
c

501,1001,1509

3001,3601,801
D

3001,3601,801

Correct Ans : A
Subject : General Maths

Q.No: 61 A vendor sells potatoes at a cost price, but he mixes some rotten potatoes and thereby gains 81%. The percentage of rotten potatoes in the mixture is?
2432779

e [T SHTel BT Y Hed W A9l B, AT 98 $9 TS g A1 e § 9iR S 81% 1 arH e 71 fsior F w3 g g 7 wiRwd v 82

A 44.75



“G44.70

13.34
B

13.34

36.76
C

36.76

51.86
D

51.86

Correct Ans : A

Subject : General Maths

Q.No: 62 ywhat should come in place of question mark in the following number series?

2433086
167772 +123 +11 =2x 4
fafataa dear-gaar § wafueg (?) F S 93T JW A
167772 +123 +11 =2x 4
29
A
29
27
B
27
30
o
30
31
D
31

Correct Ans : D

Subject : General Maths

Q.No: 63 \yhat should comein place of question mark in the following number series?

2433106
30% of 680 + 2% of 1331 =?
e SEar-gEar | $ateg (2) F T 9 T AT A2
30% T 680 + 2% T11331 =7
3230
A
3230
3225
B
3225
3229
c
3229
3231
D
3231

Correct Ans : C

Subject : General Maths

Q.No: 64 The average of “n” numbers is “a”. The first number is increased by 2, second one is increased by 6, the third one is increased by 18 and so on. The average of the new obtain
2433884



AT ARG @G T3t @1 HEU XIHL H Z @ Qlk D1 VIAL B, GXIXT SIXEHE H 0 @1 Q& D1 VIIAL B, QIR KIHI H LS @1 Ik D1 VIATEE IR QKT HPIX S R XIS H HIE QIG @1 VAl g1 Al 1% Hia

-
a+3(2 1)
n
A
o
a+3(‘ 1)
n
. 3(3"-1)
at—
n
B
. 3(3"-1)
arv—
n
_(3™-1)
atT—
n
C
_(3™-1)
a+t—
n
(3~
a+‘(3 1)
n
D
L
a+2(3 1)

n

Correct Ans : C

Subject : General Maths

Q.No: 65 Simplify:9x9-9+9+9

2433964
TRADITE9x9-9+9+9
87
A
87
89
B
89
66
C
66
65
D
65

Correct Ans : B

Subject : General Maths

Q.No: 66 Inan election, the A registered 679851 votes and his rival B secured 576019 votes. By what margin did the successful candidate win the election.
2434791

TF g9 H, TH 679851 Al gl Y 3R 36 Ufdgel df 7 576019 die giikie U1 Wha IHficar 7 f5d 3R § g1 sl

103732
A

103732

103832
B

103832

103382
C

103382

103872
D

103872

Correct Ans : B

Subject : General Maths



Y.NU: O/ KAlm Naa gone snopping. ne pougnt tnings 1or Ks £52, KS 454 dNA KRS £/35. re naa twenty rnve notes or twenty rupees. now mucr money IS 1€t WITn nim arcter paying we ol ¢
2434798

I SR HRA T AT I 255 T, 252 T SR 273 FUF F A W1 39S U S F9 F = e A a gem F a1e 39S uR e S s 2

210 Rupees
A

210 ¥R

320 Rupees
B

320, ¥

220 Rupees
C

220. 30

120 Rupees
D

120 37

Correct Ans : C

Subject : General Maths

Q.No: 68 Tea worth of Rs. 135/kg & Rs. 126/kg are mixed with a third variety in the ratio 1:1:2. If the mixture is worth Rs. 153/kg, the price of the third variety per kg will be?
2434858

135 wq/fam ok 126 F3/fFaum 3t SHa ot 91 31 TF TR fFW S 9y 1:1:2 & rgurd # fAramn s 7)1 3 ag fser 153 w0/ dam o a9 7, o e e &1 vl ey

Rs. 169.50
A
169.50 T
Rs. 170
B
170 ¥0@
Rs. 175.5
C
175.5 ¥
Rs. 180
D
180 94

Correct Ans : C

Subject : General Maths

Q.No: 69 Price of a 1kg mango is 40. If the price is reduced by 30%.what is the current price of mango?

2435185
1 f&ar o 3 G 40 1 IR FIH 30% T & W B 1 S I IAHH DA R §?
25
A
25
28
B
28
29
c
29
32
D
32

Correct Ans : B

Subject : General Maths

Q.No: 70 If a sum triples in 4 years under simple interest, find the time that it would take to become 5 times itself at the same rate of interest.
2439116

Ife; WR S F d5d 4 94 H S IR WG 1 31 I G Il B, A 3 O DR W 39 IR B WG BT 5 [ A H v g @i

A 8 years



g

6 years
B

6af

5 years
C

5 af

3 years
D

3af

Correct Ans : A
Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?

2426653
14x12+4-28+3=73
fow g grfigRu 3t W M & forg T < Sens 91 s § Sgen s =ifee?
14x12+4-28+3=73
3and 12
A
3R 12
4 and 14
B
43R 14
14 and 28
C
14 3R 28
28 and 12
D
28 3R 12

Correct Ans : C

Subject : Mental Ability

Q.No: 72 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430226 [pgjcate your answer.

Statements: The National requirement is 100 beds per thousand population but in Uttarakhand, 150 beds per thousand are available in the hospitals.
Conclusions:
1. Our national requirement is appropriate.

II. The Uttarakhand health system is taking adequate care in this regard.

Froffaa udt &, <1 Hua < ey 1, 11 $1 SFRRU FRA § SUST GHT HYHI IR AR S 8, 43 @ 9 oMk | I1d il § wlid 89 @1 oimue! g AT e Fue % afe fse 1 @ ST T

PU: AT SN U FOIR SFHSA TR 100 foReR 3 3 AP StRrgs & srarelt 7R g9k 150 IR Suwrsy 81
e

1. TR Tt sravasdl SugH g

I1. IS WA AR 39 Tae H At grauet d & 3

Only conclusion I follows

A
Fraw e T SrgeRT v 8
Only conclusion II follows
B
S Fept 1T SeR e §
Either I or II follows
c

Il 1 O7 LT R0 6l §

D Neither I nor II follow



T I SR TR 11 SRRU BT &
Correct Ans : B
Subject : Mental Ability

Q.No: 73 Two positions of a cube are shown below. What will come opposite to face containing ‘A4'?
2433336

A3 B2

B2 [A4 Bs |¢

TE T B Q) AR &1 R fzaman man 1 A4t a1t were & fAdia @@ smgnre

A3 B2

B2 |[A4 Bs |¢

®
A
P
A3
B
A3
B2
c
B2
B8
D
B8

Correct Ans : D

Subject : Mental Ability

Q.No: 74 Which of the following will come in the place of question mark?
2438619

a-c-abb-a-bc-ab-ca.

FefaRea & 9 @1 uyahs [ F ®IM W ST ?
a-c-abb-a-bc-ab-ca.

cbcaaa

cbcaaa

bcccab

bcccab

bccaac

Hin
bccaac

bccacb

bccacb
Correct Ans : D
Subject : Mental Ability

Q.No: 75 In the question given below, some statements are given followed by few conclusions. You have to consider the statements to be true even they seem to be at variance from co
2439025

Statements:

Some songs are not tunes.

All tunes are drums.

Some tunes are sticks.



woncusions:
1. Some drums being songs is a possibility.

II. All those drums which are tunes can be songs.

1 feu 10 vy F $© FUF qU1 3TF UYId $o (e QU TT ¥ | Ul i T FuF & U AFAT 7, v T 98 wdaa 9l & i gefa 19 S aur Fu & SeR W MU S IR ST E |
A

FB TH Y7 T &

wh ¢ A 7

P90 Y el g

e

L.3% A Tid 89 3 TUIGT B

1L 3 wft 9 S 7 €, 9 & W )

If only conclusion I follows

A

ofe; o ey 1 SrgeRe BRar ¥

If only conclusions II follows
B

Tfe; Fae Fepy 11 SITER BRaT ©

If either conclusion I or II follows
C

I o1 & Frsp 1 a7 11 SRR el §

If both conclusion I and II follow
D

afe; fspef 1 SR 11 G STERYT FRa
Correct Ans : D
Subject : Mental Ability

Q.No: 76 Rinky knows that Pooja’s marks are more than 2 but less than 7 in an exam. Palak knows that her marks are more than 5 but less than 9. If both of them are correct, which of
2439499

st ST 8 1o gun & oie U wlten ¥ 2 ¥ oif¥s AfdA 7 9 31 &) u9d I @ [ I6F 0w 5 oif¥e Afd 9 I 5 §) Al I wE B, O U & ot & IR H Fufifld & @ o w s

It has any of the three value

A

wTAATAE

It has only one value
B

TG Paq TP A R

It has only two values
C

T Paa A AA R

It has none value
D

T P A R

Correct Ans : B
Subject : Mental Ability

Q.No: 77 Five persons P, Q, R, S and T are stand at five different floors, ground floor, first floor, second floor, third floor and fourth floor of a building, not necessarily in the same order. F
2439519 g gtand exactly in the middle?

g AR P, Q, R, S R T U AR B Uid eRT-31eT Hioral, ad, Ueeh Ao, gurd Afor, dendt Afvr oik @it g R @ €, st =18 o5 32t o & g1 P ol Q 7 ot Akt wifora R & ek

Q
A

5
B

R
c



P

Correct Ans : D
Subject : Mental Ability

Q.No: 78 Seven fruits - Orange, Grapes, Banana, Mango, Apple, Coconut and Kiwi have different weights. Coconut has as many fruits heavier than it as lighter than it. Banana has more
2439564 ranked according to weight, with neither being the heaviest nor the lightest. Which of the following can be the heaviest fruit?

T B - eRT, TR, P, o, Je, TGS 3R Tt BT I0H SFAT-SHerT 81 ARF § R Ba ¥R & I €1 5o 1 B 9§ Rem wa ¥R § 399 St 5o €, Al g I 4N wa i R

Apple
A

¥

Mango
B

kel

Kiwi
C

Fd

Any of the given option
D

fou e et & & S oft
Correct Ans : D
Subject : Mental Ability

Q.No: 79 Which of the following can replace the question mark?

2440580
20NM, 3QPO, 5RQP, ?
P9 & ¥ B yyarEe g @) forifia #R gea 32
20NM, 3QPO, 5RQP, ?
7STR
A
7STR
7TSR
B
7TSR
7SRQ
o
7SRQ
7RSQ
D
7RSQ

Correct Ans : B
Subject : Mental Ability

Q.No: 80 Three positions of a dice are given.
2442266

Which letters will come opposite to Q?

@ T e R 8 S
T
s |V s R




P Y 3R "Q" F faudia ? 2

T
A
T
R
B
R
C
P
Either R or P
D

AMRATP
Correct Ans : A
Subject : Mental Ability

Q.No: 81 In the question, select the related figure from the given alternatives.

2442282
Problem Figures
(@ : 5 | ?
Answer Figures
(a) (b) (c) (d)
uy B, U fysedi & & el onafa o1 w5 3X)
Problem Figures
(@ : o+ ?
Answer Figures
(a) (b) (c) (d)
a
A
a
d
B
d
c
C
c
b
D
b

Correct Ans : D

Subject : Mental Ability

Q.No: 82 Find out which one of the figures does not belong to group.

2442331

NG

Q




;M6 B B W T pfa T & rifi e ¢

NGO

A B ¢ D
AL A
-
S
> 5

Correct Ans : D
Subject : Mental Ability

Q.No: 83 Find the wrong term in the given series:

2442519
1,2,3,4,5,8,9,10,13, 14
& s Jaar ¥ Tad U [ A
1,2,3,4,5,8,9,10,13, 14
1
A
1
3
B
3
5
c
5
9
D
9

Correct Ans : C
Subject : Mental Ability

Q.No: 84 Find the wrong term in the given series:

2442541
40, 41, 42, 49, 56, 65,76
& 7 g # Tad g 1 Y
40, 41, 42, 49, 56, 65, 76
40
A
40
42
B
42
56
c
56
76
D
76

Correct Ans : B
Subject : Mental Ability

Q.No: 85 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
2442980

DF, GJ, KM, NQ, RT, ?



Y@ OIPRH 1G4l B, IVIXH Y@ 4G U G1IGY I8 1901 H K1 9B XIEH 19D QMY VIl YIgmH @1 Yl X

DF, GJ, KM, NQ, RT, ?

EI
A

EI

ux
B

ux

uv
C

uv

Xy
D

Xy

Correct Ans : B
Subject : Mental Ability

2&"‘203:78660 A and B can polish the flooRs.of a building in 32 days. A alone can do —;-th of it in 34 days. In how
many days can B alone polish the floor?
A 3R B U SARG & G 132 RaAT & aifeer a3 aaa &1 AWTSHW;SWTM Rt & T
[HAT 6| B el BT i fohcter il A diferer 3 Teharg?
1376/23 days
A
1376/23 f&a
1476/27 days
B
1476/27 fA
2376/69 days
Cc
2376/69 f&7
3808/103 days
D

3808/103 f&7
Correct Ans : D

Subject : General Aptitude

Q.No: 87 A, B and C can reap a field in 2 days; B, Cand D in 5 days; C, D and A in 8 days; D, A and B in 10 days. In what time can A, B, C and D together reap it?
2423785

A, B3R C UF Td & 2 i # ole 9od §; B, C iR D, 5 AT #; ¢, D 3R A, 8 AT #; D, A 3R B, 10 i #1 A, B, C 3R D faaw 53 fvaw wa # o7e 9o 82

166/ 7days
A

166/7 &

175/140 days
B

175/140 &

130/26 days
c

130/26 R

120/82 days
D

120/82 &
Correct Ans : D

Subject : General Aptitude

Q.No: 88 The value of
2431945



s
247275425 s:

s
247275428 s:

BT AA §:

25/ 2
25/ 2
25
25
Correct Ans : B

Subject : General Aptitude

Q.No: 89 A surface area of sphere is 47.1 cm?. Find the volume of the cone.
2433794

T T U TE19 SR 47.1 WHI2 E) STF FT AGQ 719 H 1)

210.21
A

210.21

211.21
B

211.21

190.20
C

190.20

150.52
D

150.52

Correct Ans : D

Subject : General Aptitude

Q.-No: 90 Ty, gides of the cuboid are in ratio of 2:3:4 and its total surface area is 100mZ.

2433829 Find the sides.
T BT YSIT 2:3:4 F g0 A § SR 591 S geia deba 100 W §1 el $ 91 R
3m,5.76 mand 7.69 m

A
3 Hiey, 5.76 Tiex 3% 7.69 TeX
3.84m,8and 7.69 m

B
3.84 MR, 8 3R 7.69 Hicx
3.84 m, 5.76 m and 7.69 m

c
3.84 Wi, 5.76 Hiex 3R 7.69 Hiex
3.84m,5.76 mand 8 m

D

3.84 #ix, 5.76 Hiex 3R 8 WX

Correct Ans : C

Subject : General Aptitude

Q.No: 91 A rectangular field has length of 1200 m and breadth of 500 m. A road has to be made along its diagonal at the rate of Rs. 25 per sq m. Find the cost of road.
2434677



QP AN4AIPIX @A P C917 L2ZUU HICK HIX FISI§ DUU HICK 81 £D 0449 HIA QY HI @1 GX 8 39D 19DV @ 1Y P ISP QUG VI B1 1 XD @1 Cia i @uvy 1

Rs.28400
A

28400 ¥W

Rs.25600
B

25600 TW

Rs.35000
C

35000 ¥0

Rs.32500
D

32500 0

Correct Ans : D

Subject : General Aptitude

Q.No: 92 Three persons start walking together and their steps measure 40 cm,42 cm and 45 cm respectively. What is the minimum distance each should walk so that each can cover th¢
2436954

7 I TF Y T TE A § 9IR ITP Hel HHR: 40 T, 42 It SR 45 It Y 8 W U §) 98 ey g 0 St ude &) gart Tk aife vde 9ol e § e g Bl

25 m 20 cm
A

25 ez 20

50 m 40 cm
B

50 Hiiex 40 It

75 m 60 cm
c

75 Tiex 60 At

100 m 80 cm
D

100 #iex 80 ¥+l

Correct Ans : A

Subject : General Aptitude

Q.No: 93 The HCF and LCM of two numbers are 34 and 306 respectively. When the first number is divided by 2, the quotient is 17. The other number is?
2437852

Q ISl BT AU, 3R T HE: 34 AR 306 T 5 ygeh T $ 2 F i fran S 8, dF wnmed 17 o ¥1 g e @) 91 1)

66
A

66

132
B

132

306
C

306

153
D

153

Correct Ans : C

Subject : General Aptitude

Q.No: 94 One dice and one coin are thrown together. What is the probability that the dice shows an even number, it is given that the coin shows head?
2444122

T U SR TP Ryad1 o Ay HopT S 31 o JuTa @ o uran v wn T R €, T o mn § i Riee e Rarar &2
0.5

0.5



0.4

0.2
C

0.2

0.25
D

0.25

Correct Ans : A

Subject : General Aptitude

Q.No: 95 A person has 10 friends. In how many ways can he invite 7 or more friends to the party?
2444156

e Afed & 10 i &1 95 fram el & 7 a@r eiftre o &1 ordf & smifya o= gaar g2

176
A

176

152
B

152

184
C

184

204
D

204

Correct Ans : A

Subject : General Aptitude

Q.No: 96 In how many ways can 3 boys and 5 girls be arranged in a row so that no two boys are together?
2444166

3 TSH! 3R 5 TSRl &I fan adid! A e Uidd § e f&an o J@ar § & 313 off 3 asd ue iy A g

720
A

720

1440
B

1440

2880
C

2880

2400
D

2400

Correct Ans : D

Subject : General Aptitude

Q.No: 97 DIRECTIONS: What should come in place of the question mark (?) in the following question?
2444640

19, 25, 45, 87, 159, ?

= Fofifaa uy & vsams R (2) ¥ =F R 397 o Iifee?

19, 25, 45, 87, 159, ?

254
A

254

279
B

279



o L4

284
269

269

Correct Ans : D

Subject : General Aptitude

Q.No: 98 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444667
10, 8, 13, 35, 135, 670, 4007

A vde il g 3t Tad Sen & T 7| Tad 9o 91 B30

10, 8, 13, 35, 135, 670, 4007

8
A

8

670
B

670

135
C

135

35
D

35

Correct Ans : B

Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444749
13, 39, 118, 356, 1071, 3217, ?

Freafafaa S gaar ® u= forg 2’ & R R 1 S

13, 39, 118, 356, 1071, 3217, ?

9656
A

9656

6459
B

6459

6355
C

6355

9651
D

9651

Correct Ans : A

Subject : General Aptitude

Q.No: 100 Find the number of ways in which the letters of the word CALCUTTA can be rearranged.
2444770

CALCUTTA T&g & 3i&Rl 3 Tiodfafia o & adia! 3 Sen 3d Fifom)

Coom
o 5
-
o5

Correct Ans : D






